
His Majesty
 (E standard version)

Bulavira
Music by Andriy Vasylenko (assisted by Ben Zimmermann)

Standard tuning

 = 90

1/5

di
st

.g
ui

t.

X
X
X
X
X
X

X
X
X
X
X
X

X
X
X

X
X
X

X
X
X
X
X
X

X
X
X
X
X
X

0
0 2

4 3
1 1

3
1
3

2
4 3

1
3
0 1 1

3
2
4 3

1
3
0 1

 Intro

H Hsl. sl. sl.P.M. P.M.
95% ACCURATE SINCE WE CAN'T FIGURE HOW WE PLAYED SOMETIMES let C ring while making pull-off
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H H H Hsl. sl. sl. sl. sl. sl. sl.P.M. P.M. P.M. P.M.
IT ALL SHOULD FEEL LIKE JAM, SO FEEL FREE TO JAM
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 Main riff

H H H Hsl. sl. sl. sl. sl. sl.P.M. P.M. P.M. P.M.
make sure you hit strong and palm mute the power chords
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H Hsl. sl. sl. sl.P.M. P.M. bouncy dead notes, do them on any fret, accidental harmonics allowed
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 Verse 1  Pre-chorus
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P P P P Psl. sl. sl. sl. sl.

position switch via open string
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P P Psl. sl. sl.P.M. P.M. P.M. P.M.
random 'recharge' slide
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sl. sl. sl. sl. sl. sl. sl. sl. sl. sl.P.M. P.M.
noticed modulation? B-)
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 Verse 2  Pre-chorus
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P P Psl. sl. sl. sl.26 27
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P Psl. sl.P.M. scratch dat G
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 Bass solo

Psl. sl. sl. sl. sl. sl. sl. sl.
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P.M. watch drummer
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 Chorus (outro)
P P Psl. sl.P.M.

76 77

2 0 2
4

2
4

1
3

2
4

2
4

0 3
5

(12)
(12)

0
2
2

0 0
2
0

2

0 0 3
5

(0)
4
2 0 2 0 1

3
2
4

P P Psl. sl.P.M. P.M. P.M.
78 79

2 0 2
4

2
4

1
3

2
4

2
4

0 3
5

3
5

0
5

3
5

4
5

0
0

2
4

2
4

1
3

2
4

2
4

0 3
3

(3)
4

(3)
5

0

P P Psl. sl.P.M.
80 81

2 0 2
4

2
4

1
3

2
4

2
4

0 3
5

(12)
(12)

0
2
2

0 0
2
0

2

0 0 3
5

(0)
4
2 0 2 0 1

3
2
4

P P Psl. sl.P.M. P.M.
82 83



5/5

5
3

4
2

4
2

4
2

5
3

4
2

3
1

4
2

0
0

4
2

3
1

3
0

3
1

 Coda

sl. sl. sl.P.M. P.M.

 = 70

84 85


